gboobogoboabod
gbooogd odabod

uboboobuoobbooboobbdo boooo
gbooooobood oo o044

gbobogbboobuoobboobuoobbooobodobooob boobobooobooboo
gbobooobuodgboobbooboobobuooboobboobuoobbooboboooboboan

gbooaoo
ugbbogboobbogbood

ubooggoo
U U g o 0 g 0O 0
gobodgboooood (bboobooaobbooobo
goooooo
ugboboodaoo gbooaoog

a 0 goboodoboobooooodo (bbooboooboboooo
goooooo gbooooog




oboobooooboob gbobobooboobooboobooboobogon

oo

O

oooon
80

18-2-2 f&@R
FL—rh I ToOMmEINT, woktsh L35,
B O B sHE () W =
Fr—rhZL A & : 1000, & 2000, FEE 250 & hESH  BALR
& : 1000, £ 1000, EX 250 T (EARRT 80~0)

wlRkahsbo
TrHA—EY 1.0m

FL—v»ZIT B

& : 1000, £ 2000, FEX 250 & hEEH  BELR
& : 1000, £ 1000, JE& 250 T (EiAREA 80~0)

Wk Eh s b o
TyH—Er 1bm
18-2-3 ##
FL—>NITOMERL, ko LBY 15,
(1) k=
JHE HiE ELE
HE () 3.2 HEREED
AR (mm) 50
Heit (mm) 4.0
FROH - & JIS G 3547 SYMGS-3
(2) it
THH Hitk
PESH FALT (WiAFHS0~0)

@ Frh—Er

THH

Bk

~HE EXRS (m)

Fl—rmZL A D22X1000
Fl—ynIL B D22X1500

otk AR L—b (ES4AmA > b, BT v 2 H)
HH SD2954

KT A=K,

Fl—rimZ 10 1R kBT 500 L T5,

7w 7%, 100mmEd 5,

(4) FiEgk

HH

WE

Y

ZHHRE

—

18-2-2 &3
Fl—rinZTofjlik, koLsY L35,
HilFEDTHH <t (mm) W =
FlL—riIT A B8 1 1000, £ 2000, X250 & | hESH c BAELE
B8 1 1000, £ 1000, FE 250 T (L)iAREE 80~0)
W Ehsbo
FTyA—=Er 1.0m
FlL—viZT B 8 : 1000, £ 2000, FX 250 & | thEgHfc BAELE
% : 1000, £ 1000, E S 250 T (L)iAREE 80~0)
ks hsbo
FTrh—=tr 1.5m
8-2-3 HEk
FlL—rh I Topkht, kolkh L5,
(1) ki
HA HiAk LES
AR (o) 2.6
@B (mm) 50
BEfROMH o X JIS G 3547 SWMGS-3
(2) HiEHt
HE g
FREE BT (WHAFEB0~0)
@) TrH—Er
HE #ifs
o s (i }\’1/—-‘/751::1 A D22X1000
FL—y#ZT B D22X1500
i ARL—b CEM4ES > b, BT v 2 H)
MR SD295A

KT rh—Evit, FL—rnl1loEin 1R ERBI 2 b0LT 5,

7w 73, 100mm&T5,

(4) HEAk

HE

LES

®E —EERE




